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Read the following instructions carefully before you begin to answer the questions.

e IMPORTANT INSTRUCTIONS
1. This Booklet has a cover ( this page } which should not be opened till the invigilator gives signal to
open it al the commencement of the cxamination. As soon as the signal is recetved you should tear
the right side of the booklel cover carefully to open the booklet. Then proceed to answer the
questions.

2. This Question Booklet conlains 200 questions.

Answer all guestions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

5. An Answer Sheet will be supplied o you separately by the Invigilator 1o mark the answers. You
must write your Name, Reglster No.. Question Booklet Sl. No. and other particulars on side 1 of the
Answer Sheet provided. failing which your Answer Sheet will not be evaluated.

6. You will also encede your Reglster Number. Subject Code, Question Booklet Sl No. etc.. with Blue
or Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not
encode properly or {ail to encode the above information, your Answer Sheet will not be evaluated.

7. Each question comprises four responses (A). (B). (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response. mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

8. In the Answer Sheet there are four brackets | A |[ B 1| C | and | D ] against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each guestion In the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one queslion, the answer will be treated as
wrong. e.g. If for any item. {B) is the correct answer, you have to mark as follows ;

(AT (CI(D]

9. - You should not remove or tear off any sheet from this Question Booklet, You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

10.  Failure to comply with any of the above Instructions will render you lable to such action or penalty
as the Commission may decide at their discretion.

1l.  In all matters and in cases of doubt. the English Version is final.

12, Do not tick-mark or mark the answer in the Question Booklet.
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1. 2.0y0 Qumisugeusd seflbess UTenn lan_tug)
A) Qg Sif ety B)  esepr fifeu
C)  Feurdlfev D) ubst &fev.
Salt Pscudomorph shale occurs in
A) Semri Series B) Kaimur Series
C)  Rewa Series _ /BJ/ Bhander Series.
2. afleiyyr fyrese ea@pedu bHlapaar QL L g
A} Qéved @lur @esL B}  srieuriey
C)  ereusvelen D) aflhdlusis,
The emplacement of Erinpura Granite is related to
A\Aﬂhi Super Group B) Dharwars
C) Aravalies : D) Vindhyans.
3. grieuri Sevl @ sriulL Quwt
Al uph LFEESHGE LI B) @emh usemadaeen LLIg
C)  pluaL epsvdls srblienshen D) &gt &evll,

The Dharwar Schist has been named as
A)  Older Greenstone belt B} Younger Greenstone belt
C) Fundamental Gneissic Complex D) Sargur Schist.

4.  e@nitssers s cufllurennae srlensey 2 efer @b
A)  Seuwemes B)  uretoig §Ga]
C)  eyflusym D)  SlsabL ey
The layered Anorthositic complex occurs at
A) Sivamalai B)  Po dicherry
C)  Ariyalur D}y - Sitampundi.
5. GQaerallpdlurelat gae Ligeu flatiugd ClahCs wadlunres sraoriiu@els
Al  srTendensl B) dlyrener
C) L& T oL D) Geedi evGLmen.

Southern Granulite terrain of South India is mainly composed of
AS./Charnockite B)  Granite
C) Basalt ‘D) Sandstone.

616 | { Turn over
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6.

@i EGsTeams . Lremn CuUTrgnire Spssa. Sewilléd sreaiu@alng.
A) &lduenn

B)  eruGureilge

C) CusBanatigen

D)  Quflu 2 meumwiy Qarao. CusBsameiigen.

Anorthosite generally occurs in the form of

A) Sills B) Lapoliths

C) Phacoliths 5)) /}:luge bodies of batholiths.
2 U (P HEHE 2 BITEEIOTES 2.6fen Lmenn wigly euensules Gluw

A)  allews @ wiglly Bl Lwnridife wigliy

C)  gierd wyly D} uTéev wigy.

The example for sall dome is o

A) Drag fold B, Diapiric fold

C)  Isoclinal foid D)  Box fold.

6 sretilg) e s @HILNGHna 2

C)

6 can be represented as

Z
’
)

C) D)

&1p CarevorReureatys L e’ LTenHeies Sl @ GHSLH 2 Wlifaéed

A) dlemmauemril e B) SHRISWOTUH_Ter

C) weGauriifevenid D) gUGLrsamwl e,
The index fossil for lower Gondwana deposits is

A ...Glossopteris B}  Gangamopteris

C) Ptylophyllum D)  Otozamites.
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@ndlwralet Bleeydp menwren 12.70 &S, syereyem_w “Qeant Crev: srhsl urang
2EDHEHHGD TN euen s
A) GL 1 euempl I3) LeriT ot
C) EHEY GHEUTITL 6Dt "D} SHCyCeudd.

The longest tunnel in India. "lHeadrace” tunnel with a length of 12.70 km has

been tunnelled in

A) Dolomite . B) Basalt

C‘I*/ Gneiss quartzite D)  Greywacke,

ST HE G UTEDHTR ewbhs SrastUU@D GOIUL(Hé saflon
A sl B) evapuievdlet
C)  eaprieilere D) uweLLl.

The index mincral present in charnockite rocks 1s

A} Augite B} Hypersthene
C} Hornblende D) Biotite.

leaogeusol he OGuraar urmnura g 2udld sdademul saflond 2 diaans

oGOl S EIHING. SSG@su emwifles ot

A) pemgesen giemwlld 0ar@d) B)  GQuhgemer emwiy

) Bamrames D) micogenen @euenT eoney.
Oxidised limonitic outcrop which indicates sulphide mineralisation beneath it is
known as

A) Sponge mass B) Porous structure

o) Cossan D) Non-porous structure.

sLiur Gifley Hladp 2 Huorhngdlar sarew SHanTasd omgé Ceran® Curgb Fevs

g | |
A alsda” e Oeno @@na‘aeﬂ B)  Guihdldimhe Spsers
Q) Hpsdldmne Cubg Criréed D) Qshdlmba cul_bans.
[n the Cuddapah Basin, Grade of Metamorphism is increasing from
A} North to South By West to East

C) East to West D}  South to North.

[ E_SI_—ES] [ Turm over
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14. wroumb Gué olpdlu weedlée prbhs Quilu gmealara arurane’ uTeamDs
@Yy Geuefggeretin dlepey
Al weral efloeme Hlepey B)  snGerdl erflgpiby
C)  ughane erfloemes Blapey D) sméuwnT erfleueamey.
The la.r/gest Rhyolite magmatism during upper Vindhyans is evident in
AI\,/:MaJanj volcanics B)  Dhanjori lavas
C) Panjal volcanics D)  Dalma traps.

15. Goé elpdluaie Qurgieurs odls oemallés sreasUU@D LITeDael

A)  sefloesy uTemDEHS B)  aeiiamimibyl uTenpael
C) L@OIHUTEDEEN D)  eufafpey’ urenp.
The most commeon rock of the upper Vindhyans is
A) Shkale B) Limestone
C) ‘Sandstone D] Gneiss.
16. “gevawre L&D 2 wWillerb
A) GeariuGeor Gumm B) Qaeug GrmGumLm
C)  UVynédGurGumm D}  QuedldGurirm.
The "head-footed” organisms are
AL Cephalopoda B) Gastlropoda
C) Brachiopoda Dj Pelecypoda.
17.  LWeemer UMD 6h 6Uemd 8 [HMhDSHSIE HITeRinTs 2 HeTding) ?
Al Guepds 2 (HITHDD B) &I L dlenrevig & 2. GorhHmno
C)  yphlemen 2 HLIHDD D)  Qleulu 2 (G bHnm.
Mylonites are the product of S
A) Load metamorphism B}» Cataclastic metamorphism
C) Plutonic metamorphism D)  Thermal metamorphism.

18. afgp 2_6TETENeLHEHE HeOIF G LGS cuehHemd Fmmg LY &iD
A} emietl ' B)  coLpamnenyi
C) Gurjemerul D) @eurilen.
Which among the following is not a cubic crystal ?
A) Garnel B3) Eluorite
C) Borocite IS\T ; Quartz.

616 |
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Caram@eurean apetmy Sifleurs suamalu@ssiiul Lg)
A} SolSeul e b B) ol a@uis
C) g .ee. sumguwir D) ga@ coapb.
The threefold classification of Gondwana was advocated by
AN Feistmantal B}  Vredenberg -
C)  D.N. Wadia | D)  Oldham.
Speieneneus@hel UHmssGHaEHHDE @meanwurs 2e1fpalls Gedead uTep
A) BCuslarells B) GemiGureilg
C) Coslarss D) Senweds.
Which of the following is the concordant intrusive igneous rock ?

Ay Phacolith B)  Lopolith

C) Laccolith D)  Bysmalith.

GuirGesin dleflesile: netoiL gl LgswTGD Quésurt seflnb

A oy iCerdlCene: B)  eowsBymdleneses
C) Q| GuemLit” D]  cmiseansl.
The leldspar which crystallizes in Monoclinic system is

A}: Orthoclase B)  Microcline

C} Albitle D) Anorthite.

QpRafamauraayb Sy Gearn Suratpid smesrURD Pl uTenpWlesT GlLwT
Al uGur Qaminey & e emTby UTenp

B)  uGurev Grrweér sememimiby UTenn

C)  NiGenghlé sedomemimibLy UTenD

D)  dlenmeuigé & egoreuonmiby LITen.

Transfoomed deposits of corals in the form of reefs. or mounds are
A)/[Bi‘—;eennal Limestones B) Biostromal Limestones

C) Pelagic Limestones D)  Clastic Limestones.

[ﬂg [ Turn over
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23.

24,

25.

Spémei Heanlwhsgsen Jevey seTh 2 6lerg) ergi ?
Al @QenmreaniLL B) SITduena

C)  Gimevemni D) srieL..

. Which of the following minerals show Slaty clecavage?

A)'\»”’Ghlome B)  Calcite

C) Dolomite D)  Garnet.

EpéeeL. eurdbdlne e é Geusl

aim (Al ypbedelles arewiu@b emwiysst Grradv Qe el eem
seowtisafledmba (phblgud GeoupiiL g

erged (R) . groelayent w vallCury (pod Cshgsdsrsaybd uall EohEuped
STHPTLTHYD 2 66Tg).

FCp @OLIL Reiren @il g efluren afleni_sowg Caib@a@

A)  (A) vbow (R @uesm@n #fl, Cueyrd (R) ereituigl (A) el eflwmes aflensa

B) (A) whmb (R) @resmhn efl, Guan (R) eretug) (A) elhe sfluren alerseaweve

C) (A) wHmub (R} @yesHion seumy

D) (A) meumy, semme (R) aifl.

Consider the following statements :

Assertion (A} :  Drumlins show features which are entirely different from Roche's
moutonnees,

Reason (R} : The stross side ol drumlins is steep and the lec side is
- roughened..

Now selecl your answer according Lo lthe coding scheme given helow :

A) ?/c/;th (A) and (R} are true and {R) is the correct explanation of (A)
BN Both {A) and (R) are true, but {R) is nol the ¢orrect explanation of (A)
C) Both {A) and (R} are false

D) (A} is false, but (R} is true.

Lreudt Plewsafl anhsid o erer @

A} Oamr B)  epfleveur

C) wsdu OrCssn D) Gubg euksd.
The Talcher Coallield is located at

A) Bihar B,l /(;n'ssa

C) Madhya Pradesh D)  West Bengal.
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wemed sflayaefld areoiu@b Ly eydeiles Gl ereeo ?
Al syelud JGerar B} eugfn SGener
C} 58 OQerer D) wCurewes SQenart.
Deposits occurring along the hill slopes are called
P
A)\,~"Eluvial placer B) Stream placer

C) Beach placer D)  Eolin placer..

SpaheanLeundlauer Gummhdlu @iy erg ?

A} coyenll Ea — u@eossstlar G HH&HES

B) e Cureain @hluhser —  tlegdlet Sgeien ey

C) sreuflens RssawblL — yeseuriblg

D) usiter é& — Qareemwales dlang emly.

Choose the correct pair from the following :

A) Flute casts —  Top of the beds
7
B) V" Ripple marks —  Subaerial structure
C)  Graded bedding —  Unconformity
D) Groove castes —  Palaeocurrent direction.

G&Ne© gy (R) eretug &paumb @O e aped Qupeorio.

Jwl 3wl
N aba? ¥ 2bd?

3bl_ | 2wl
S 2wd 4 D) 3bd?

Transverse strength (R} can be obtlained from the formula

3wl 3wl
A 2bd 2 B) (Eb_d l_2
3bl 2wl
) 2wd ? ) 3bd?"

[6_—1_5:1 ' | Turn over
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29.

30.

31.

32.

Spseam cumyuld GOliRaese dlainlL a0 Gurdain s@olouds GHuug
oy 2

A) —— B)

C) “#‘ D)

Which of the following map symbols is representing the horizontal {oliation ?

o

A} —— B)

5 # N

EpdhmetiL sailivRsE@hal Qaugars Qunem L urapaaile Sraoiu@in &eflb
Qg 7
A)  evamlUievgest B) Qpeodeflan

o

C) wevmeneul D) @GenmrysnL,

Which of the following is found commonly associated with pegmatite ?

A) Hypersthene B) Nepheline

A Muscovile D) Chlorite.

Ceuliug sTassdland uropsasls Goaugdl Lo Gud gHsaTs 2 b
Bl paysE Gluwi

A} Cargiflgea / Quresp BRGoHe B} 2 epualidle alemerey

C) 2 L &h@Geeuser D) B $&sb.

The phenomenon of peeling off a curved shell or layer of rocks under the
influence of heat is called as

.\ Exfoliation B)  Frost action

C}  Scree D}  Hydration.

v ApGsed LaTaTald oL bGD wayl LYaubd 6hHe cumeous STIHSE ?
A)  gaudlfiCanayest LigeuD B) Qe&fGaayest Ligaub

C)  Gel Guénmgéd ugeud D) Coellg Vewellis Ligeud.

Diamor & pipe of Panna. Madhya Pradesh is the example of

M)~ Dissemination deposit B)  Segregation deposit

C) Late Magmatic deposit D)  Cavity filling deposit.
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Gl & salnddle aramiuin Miydedluer @rig e @yLlgliyg senb

A} (1120) B) 8 gbesE @eneasiurs

Q) 4 oEssEE QEhGSSTS D) (1010).

In Brazﬂian twin in Quartz, the twin plane is

A (1130) | B)  Parallel to 'C axis
C) Perpendicular to 'C' axis 2} {10 10)
BPHHIL U GHIUHSHEETS Seve :

gahn (A] . Qurgieurs @dleog erLd agalera ofleer cuameare) omeailc
Geul (U ugdlsaie o oo rdlaipes .

arreod (R) :© CubediilL gilagnée @mi@ gilser aerm Guw..
QuBurg &Gy GO Gerer @il e sfiurar el owus CaihGsE :
Al (A) wboe (R) e ol

B)  (A) wpoub (R} @ressio seumy

C)  (A) of), syemmes (R) seumy

D)  (A) seun, yermev (R) aifl.

Consider the following statements :

Assertion (A) : Horse-shoe shaped lakes arc normally formed in the cut-off

meanders of a river.
Reason (R} : Such lakes are known as Ox-bow lakes,
Now select your answer according to the coding scheme given below :
A\/Bmh (A} and (R) are true
B) Both (A} and (R} are false
C) (A) is true, but (R) is false

D) (A} is {alse, but (R} is true.

616 l { Turn over
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35. SpéactieuDBlael ksl ehal LTEID USRS &TTHSHE?
A) LOGRTHLT €D B) scemimbly LT
C)  sefllwesn ureon D) sefloem.
Kankar is a variety of
A)  Sandstone B)Y" Limestone
C) Shale D) Clay.

36. wyly urenseilar wgllla 2 sdllle 2 siten Neneysefles 2 @l mgbd safloddier
Qluwrr

A) geod Gumelin el W ST HITETD
B) LI UL Lig.euid
C) LG 6
D) Gsige Fu.

Mineralization formed in the opening between rock beds of the crest of anticline

are called
A) Ladder veins B) Fold deposits
C) Stock work L, Saddle reef.

37. @sepred srgsadla bl saalsd GHsHTHpETET HME 6TH7

A euCueveniL B)  dlhensl
C)  Oyrhuseflanesr D) esublgGemeneal.
Which of the following zinc ores is having more percentage of zinc ?
A)  Sphalerite ' By Zincite

. C)  Franklinite D)  Smithsonite.

38. FpsaciL surhdlunisemens seuel
gadmy (A) . @eurl e epeflllueing CrpAem_wn .
sryed (R) : @eurlfldr diply geléadlt sraryen geflsadorai. Gaswrearg.
FCp @O Peren @Hldiliger sflwrer allev awg Caihe®
A} (A) vbnib (R @re@id efl, Goeyd (R} erebiug (A) efibe efluren alerésn
B)  (A) wbmid (R) Ges®io afl, Gueb (R) eretiugy (A) allihg sfluner efenéawciey
C) (A sfl, ;yemmév (R) seumy
D) (A pom, geme (R) sfl.

616
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Consider the following statements :
Assertion (A} Quartz is optically positive.

Reason (R): The velocity ol cxtraordinary ray in guartz is greater than

ordinary ray.
Now sclect your answer according to the coding scheme given below :
A) Both {(A) and (IR} are true and (R} is the correct explanation of (A)
i3) I}th {A) and (R) are true, but (R} is not the correct explanation of (A)
(?]”/H{A) is true. but (R} is false
D) (A} is false. bul (R} is true.

aflurels QurGhab Csomgemwus sesorGily

A)  sgReLUTENG —  eoLwegurl Ul

B oemaw —  dlyeylgw

C) aphsg Qmple —  geut JGyé

D) semendlHse —  Ulyenc s midl.

Find oul the correct match:

A) Tunnel — Diamond bit
By ..'I;am —  Grouting

C) Mining —  Overbreak

) Drilling — Breast stoping.

srreurt dleul Gdlesr B daen’ uTemm

Al Guella@raert aipeus e B) arierdensl

C)  @ComauGuLL. dlyrenesi D) Gamrevul Hlymeamesi.
Basement-rocks of Dharwar system are

Aﬁ/Pc:rLu“»nsular gneisses BB)  Chamockite

C) Closepet Granite D) Hospet Granite.

| 616 | [ Turn over
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41.

42.

Ep&aeirL suThdlunsemend smolafl
gahmy (A) : Ourgeurs 'U-eugeu UeMeTEaHTHGest yoaths QUDOSE

sryesslasilen ofllns satenbumre 2 wHeourdhsliLfdlaimes .

srgessid (R} 'U-eugeu udiengsre@ear @nllurs uellurnseilar efiys

GESTEnIDWTEL LI e mes .
S0 @O Reren @Ol g eflures allenLemws Coibolsd :
A (A) vpmbd (R) @res@ip efl, Cuaud (R} essiug (A) ellbe sfluren alenden
B)  (A) wpmd (R) @uesm@in efl, Gueynd (R) ereiiug (A) aNb@ sflure afendaweuen
C) (A sfl, syermé (R) geumy
D) (A geuny. svere (R) aifl.
Constider the [ollowing statements :

Assertion (A): 'U'-shaped valleys are generally produced by erosive action of

almost all natural agents.

Reason (R): U shaped valleys are formed particularly due io the erosive

action of glacicers.

Now selecl your answer according to the coding scheme given below :

Aj Both (A) and (R} are true and (R} is the correct explanation of (A)

B) Both (A) and (R) are true. but (R) is not the correct explanation of (A)
C) {A) is true. but {R) is [alse

DY~ (A) is false. but (R} Is true.

seulsorTaNe sl

A) 74-76 B 6.0-6.52

C)] 63-64 D) 5.0-7.0.

The specific gravity of Galena ranges from

A /7.4 -7.6 B) 6.0-6.52

C) 6.3-6.4 D} 5.0-7.0.

' |
=)
=1
i 1
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O BT, B STHHEETET LTeOD 2 (HeUTGD &0 BTGS2 (HeuTerney 2ibhg S gpalled

T
A)  endlmeng s sre B) dleomenns srg
Q) UiMlenesig & simey D)  slefCueayet HTE.

The orc deposils that are lound al the same time as the enclosing rocks are

called
A) Epigenctic ore deposits Bj-"" sSyngenetic ore deposits
C) Pregenetic ore deposits D) Sublimation ore deposits.

afg'p&&afmp aurHmhlukis:emend Seuet :

gwmhn (A) 0 @CorlGrrdls safllvwast Grlier ogeflallosd sdaombeaow

g ecor Ol & & et met

srgeid (R) : oG Gyrlls sefinhseiies gefl allevad et erdver leane meflepin
e @@,

#8p @il Reten @Ml g aflurar afloL.cows CarpGs® :

A) (A} whnn (R} @eseiGo &fl, Cueapd (R) eratug (A) albe sflureas aller&ean

B) (A wHhnb (R) Grem@id &f, Guabd (R) eteugy (A) 6lhae sflure allendaweoey

C)  (A) afl, oyamen (R) seury

D) (A) seum), syeoimev (R} el

Consider the following slatements :

Assertion {A) 1 1sotropic minerals show the phenomenon of double refraction.

Reason (R} : The refractive index of light is uniform in all directions in

isolropic minerals.
Now select your answer according to the coding scheme given below :
A) Both (A) and (R) are true and (R)] is the correct explanation of (A)
B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
C) (A} is true, bul (R) is false

D (A) is false, but (R)is true.

ael [ Turn over
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45.

46.

FPpHeEIL. curbdlubiseanend Helatl

gaibmy (A) : fleutey Grmidl eueme wilellhdlen odla oppsasdla Geaussubn
si@Beliyi Hlyeun wrr wrl speyeugre Ceri CuGe
T &HSHILRHIDE .

srremib (R): Csellt eullldr cpewrs Qegusslu@h pyrers gamadlin

=

Garahietr cupures Ceusnors eumding:.
&8l @O Peirer GO g6 eflwre allem_eowus CoibGs
A) (A) oo (R) @peso@n afl. Cueyd (R} ereiiug (A) albe eflunes allanéhad
B)  (A) wdnb (R) Gram@in of, Qo (k) ererug (A) elibg sfluran aflerssioce
C) (A sfl, syeimév (R) seum)
D) (A) meumy, yeme (R) &l
Consider the following statements :

Assertion (A) : Reverse rotary is a method in which a high pressure of

circulating fluid is used. the circulation is reversed and core is
lifted.

Reason (R} : The walter enters the casing pipes and come out through the drill

rods.
Now selegt your answer according to the coding scheme given below :
mﬁh {A) and (R) are true and (R} is the correct explanation of (A)
B) Both {A}) and (R} are true, but (R} is not the correct explanation of (A}
C) (A} is true, but (R) is false
8] (A) is [alse, but (R) is Lrue.

BPEUmHD FaDIFH6T SyTTLe :

I. ey mt;'meﬂsq&sﬁ galmoret erflinemeuing £lumend @ilsdflarnen.
L. Soy cuemenayset Lalwenwliluers blaeayd Genemwn e amey.
1. ey susmereysetr UaIIE QUEBRSL GG UFaeTeas ST LGS me .

V.  ssflee QumbLTayd deoy euametas@bLar Geih8a simewo i iMdlsime.
CuoheetoiL. Feibmsefle
A Lol sflurearg B)  lwbmd H eflureng
C) L Ilwbow I eflurerg D) omerbgh efluramenan.
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Consider the following statements :
I. Island arcs represent active volcanic belt
II. Island arcs are geologically very young
lII. Island arcs are common in Pacific ocean

IV. Trenches are found associated with Island arcs.

Of these :
A) [ alone is correct B) [ and Il are correct
C) I, 11 and IIIl are correct D) All are correct.,

Slesordlfledr cusmasLGselestug ., 300° - 500°C wpnb 2fle poHSBHG 2 (Heuren
sanl Gy GlgToe Lgaikseflss GLwr

A) fGearm Glgfine B) alQaiwd
C) $SCar Qg D) emanuGun @&Mwey.

According to Lindgren's classification, hydrothermal deposits formed at
300°C - 500°C and at very high pressure are

A) Xenothermal B) Epithénnal

C)  Mesothermal D’)/{ypothermal.

Arreus SeTaL W Hafibhsal o e Lol LTepllar auams

A) flGeanflwen B) yidléGediudy
C)  ®»BLflwev D)  ariuGedluen.

Rocks having particles of gravel size are known as

A} Arenaceous B}  Argillaceous
&~ Rudaceous D)  Carbonaceous.

Epsaramd saflbhseic sen gGanGliolfléh Sy @ib.

Al syedlaller B)  asmierl

C) SHrames D) @rwedes
Which of the following minerals is isotropic ?

A} Olivine BS\’ Carnet

C) Zircon D} Tourmaline.

| 616 | [ Turn over
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50.

51.

SRSHTERID snhniseen e :

L. @l asiund @eorQeuelluratg yalGurlghHeb yelll Guriensud@id
Gy oenwihgleisng.

. Quor@anr@rralldls @ Qeuefllurais yallGurtupend yello
GurrensudH @D @)oot Ul yeminhgieTen g

. Camenni® @eo Qeueflurerg yalld Curiemeus@n yelld sGalbeb
@eouid ek gistens.

Iv. ‘Garemri@® @eocaeflurerg ualle smalben yallGurligbhew
QoL llér yemhaiaieng.

Byt
A)  Tol@in sfluress B) Nwl@bd sfluras
C) L U wbod [ eflurensme D) seeasgib sflurarae.

Consider the following statements and identify the staternents that are true :

L. ‘Gutenberg’ discontinuity lies between crust and mantle
II. ‘Mohorovicic’ discontinuity lies between crust and mantle
II. ‘Conard discontinuity lies between rmantle and core

[V. 'Conard’ discontinuity lies between core and crusl.

Of these
A) I alone is correct B} " 11 alone is correct
C) [, Il and Ul are correct D)  All are correct

&psa e eupilanst aflemey omgrs oy ag 2

A sméLyr B} afloemand gpri
C}  HCylir D) s,

Which of the following is non-volcanic product ?

A) Caldera B}  Volcanic pipe

C)  Crater . D)f"#-..Cirque.

616
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Jeneumevemepmiat era efiurs’s QuImesILL. Heieng 2

A)  dlypreneot Ligeud — &Srranwl

B)  @evTyeuT euigeubd —  IDTevEnsL

C)  GuryGuiid eugeud —  gevGlusuLmen
D} Gueelu $6[ eugeud - —  weBamemeui.

Which one of the following is correctly matched ?

AN Granular form —  Chromite
B) Globular form — Malachiie
C) Radiatling form — Asbestos
D) Bladed form — Muscovite.

gremay EMLSHHL LWETURD sheehses Coamawre (pidus &
I. Guirgly &g 6o g& e D 2 nidluyb.
I, spL (B L6t &6
.  Seosaypros Bigb@ik G,

IV. Qlererensney wTHTS SeTemio.

Qeuppye
A} Twbdob IF shlwrereaney B) 1w pb sflureig
C) I 1 whmn IH eflureiaes D)  soadgn shuraraneu.

Essential qualities that a good roadstone should possess is / are :'
L. Sufficient hardness and Loughness
II.  Cementation properties
1. Durability to weathering

1IV. Non-swelling properties.

Of these
A) [ and Il only correct B) 111 alone is correcl
C) [, [I and It are correct D}/Allof the above.

{616 ‘ [ Turn over
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54. EPHeTEID SapmyseaT i :
L Blew dlTédl weopey e wsdler P yflitay S mampeudlaama.
. de yfiédl vonay variLagdled 'S oiflia Semauas papadloame

H. oo Plisdl weopey wamLwsHled P oppnd 'S odliea evass

mIs peuglevene.

IV, Blov ofliédl wesmey wedoiL eud Yyifldaguila 2900 .. g psdla P
whob 'S’ PiTey smevsaflen adliallaamasailares ghuiding.

Gleuppyer
A) ol @b sflurerg B) U wbmo 1 efurareney
C) Ml w @b sflwuress D)  oemensgn sflurenenel.

Consider the following statements and identify the statements that are true :
l.. ‘Shadow zone' is {ree from 'P' waves only.
1. '‘Shadow zone' is {ree from 'S’ waves only.
ll.  'Shadow zone' is free from both 'P' and 'S’ waves.

IV. 'Shadow zone' is formed due Lo the inleraction of both 'P and 'S
waves at 2900 km depth in the Earth. '

Of these

A) [ alone is correct . B) II and III are correct
e

C}/ 11l alone is correct D)  All are correct.

55. earard Gsriflé aearb pébdlunrs sreoliL@eas)
A) SHURDGULDL. (& | B) Guefwb
C)  ukseTOueTaf) D} @atemLwi.
The main source of Diamond from Kumool system is
Al Jammalamadagu B) Paniam
CI "'.B;nganappalli D) Kundair.

| 616 |
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G HE Bjeney Slelsame ClmnetiL sallnmgel....

A) c%r'rgg;rrsﬂ(gme'm ohnih el G 13)
C) Qmdelles whmn o edlale D)
Minerals of low silication include

A) Oftli()clase and Albite 3)
Ch -N(:phclinc and Olivine D)
Hliyremeong 61 pessgiomenilen (Porosity) weliny
M) 0.1 - 1% I3)
C) 0.1 -0.5% 13)
Granile has porosity value of

A) 01 ~-1% B3)

o\ 0.1 -0.5% D)

[

woTiTes Senesor () nHoit epln s lled

SLema () ohpb e adlfler,

Iornblende and Pyroxencs

Augile and Acgirine,

5 - 20%

0.5 - 2%,

o= 20%

0.5 - 2%.

S|hdlad 1 Ui DTN, &eieITbyl UTenpewu samed GUITE o (heueus)

A) G&HTY & Ly suth

B)  eleilGoaysd srgy Ugab

C) osrevLrsl Gwie Garomes srg g eub

D) FUIGerenGinetoil gy Ligeub.

Certain Igneous rocks invade Carbonate rocks and form

A) Magmalic ore deposit B)

¢} Contact melasomatic ore deposit D)

Sublimation ore deposit

Replacement deposit.

allbdlueilen o siten sweuntuseficn spsdlesur seoiiy aabdlaoL e o eiere 2

A} Qeofl bhob ensepr
B)  em&ewnt whmyn Feur
C)  Feur whryb wbs

D) Guhereier (B) whmn (C) Gy esoig en..

Diamondiferous unconformities of Vindhyans are in

A) Semiri and Kaimur B3)

Kaimur and Rewah

C) Rewah and Bhander D]\//"Both in [(B) and [C) above.

| 616 |
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60.

61.

63.

s hHlelmhe Liblee &p Crréadls Cadamaule @m&u,&,é\e&r gmafl 2 wiey
A} 5°C/& 6. B) 30°C £.5.
C) 300°C /4.8 D) 3000°C #.f..

Below the ground, Lthe temperature increases downwards at an average rale of

N

A) 5°C/km B) 30°C km

C) 300°C/km D} 3000°C km.

ueliemiimemen HlTiLd Uy surkselley saflnmaer LILaushE setlivhaer Hirolly Sreusdd

FHUGD i DTHHGW STy @D
A) ©leulib B)  oupkeD
C) Geudlwes uetory D) @emeu Oe0erheD.

In cavity filling deposits, precipitation of mineral is chiefly caused by change in

the ............. of the mincralising solution.
A) Temperature I3) Pressure
V —
C) Chemical character D) All of these.
Wby seflia QarasiL seilb
A) dal B)  erdmal
C) LT6ud D) Lmeusueo eoor e g,

Pearly lustlre is a characteristic of the mineral
A) Gypsum B)  Calcite
S
Ck Talc D) Milky quartz.
B58BTHEH 0 UL THE)
A) 7.15 B) 7.00

C) 7.50 D)y 7.75.

i |
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The spectlic gravity ol zine is
N 7.5 B 7.00
C) 7.50 12) 7.75.
FeuGur g Spsharamueeiseite ermal ssr QBT ML e wg) 2
A) séiMwsHaD B)  eflweme Geugliy
C) B wdliey D} sybrbler ey,

‘Seismogram’ is related Lo one of the following

A) Radioactivity B) Volcanic actlivity
é} ’ Earthquake D) River Erosion.

GRsD @euanny bl d&lne)
1. Careu® - L gyienmi_ ey
1. Gowrdu( - @eurien GeurL_an
. Gardd - weunileay sevenu Gourt eu

V. UGenerm Ly eumssl,

Bleuporer
A) Lol (o sfhuresg B) L iehmyd 11 eflunenemeu
C) U wbmyd U sflureaiemeu D) L U wpms [ eflurereneu.

Gold occurs as
L. Gold - tellurides
{1. Gold - Quartz lodes
[, Gold - Quarilz Sulphide lodes

IV.  Placer deposits.
Of these
A) I alone is correct B) Il and Il are correct
f

C) [I and HI are correct I, Il and Ill are correct.

[761‘671 [ Turn over
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67.

68.

Mlevgdlaar Guer gemobaaien dlaeyh Fenwren siuraldys 2 eten Q1L Leadlfle
G TTRIRLL LT 6 st [ﬁaiuh

A) SEARLS 13) 16 1.8

C) 184148, D) 22 4.8.

The longest tunnel on land "Daishimizu” situated in Japan is having a length of

Al 5km B) 16 km
C) 18 km ' " 22 kin.

glyrev-Gam_6®H Gallerelln ool @mwsbrrdlameaaiie Golg oewiure
Delet el gt men

A) oweou « Quifle.dlemersst a1l (b B} Syevemill ¢ GmiTeverTL. &L b

C) e’ - wellus sl b D) srirévevunl « Gufladlanarer s L.
Cross-hatched (winning of microline is due to a wedge shaped twinning on

A) Albite + Pericline law 33) Albite + Carlshad law

C) Albite + Manecbach law D) Carlsbad + Pericline law.

ureen el cptialian dlasl wii eumpurerg Sbhs urondle o e URmeselle

e aueo)éG Qeoesiuns ewhHlikheTd s Ot

A)  Ganmewt @eopdey B) Sl il Laiey BETey Glesc phiey
C) e wiL ey Geoapbley D) Flap-nsiey GeLpidia.

The s[riké of the faull is parallel to the strike of the formation is known as

A) Diagonal faull B)  Strike slip fault

d/Strikc faull . ) Net slip fault.
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25 GEUG
wpersTr uTeonseild 2 meaurdl alFaluyerer QUi Grrellu ereso Qemriid gielamelle

HHHHN &GS SHTTEoIDd
I EIn&sDn .
I, shad alane
. Heéeh s

V. degall o igd gepaireang,.

Gleppret
A Twbpo IV sfluraramean B} LIl wpod 1 eflureeney
C) I 11 whmd 1V aflurereneu | D) Cohsan emeargsb eflurareme.

The migration of dispersed droplets of oil generated within the source rock is

caused due to

1. Compaction

IL. Capillarity

Il. Buoyancy
IV. Its lower specific gravily than water.
Of these
A) I and IV are correct I. Il and III are correct
C) [. Il and IV are correct [53/};11 of the above are correct.

&8 QarhidmsiLn L eaulé ag Caall g Sléaadh Liga) o6 7
A Veyt Qeudie B) Gebui® Qeudes
C) e s b D) suallGueayss augeub.

Among the following which is not a cavity filling deposil.

A) Fissure Vein B) Chambered Vein
C) Stock work ﬂ)/Sublimation deposit.

‘ 616 \ I Turn over
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71. gl 2 Hemarsd SO uTenD HHEGHET ahg eUadHenus grihgg?
Al STHDTE 2 (HeuTeug ‘ B)  sLdlé 2 meuraug
C) uallurmserTes 2 (meureug) D)  ymismenmey 2 (Heureug.

Tillite boulder beds are related to

A) Acolian origin B) Marine origin

-

Cy ~ Glacial origin D)  Fluvial origin.
72, eyhnn ufees Gurean weanh LGdselld geoemliBeusbhE 2 ehs semenllfn cuame
A)  colIGemn g fleoedliy B}  Gaedléen g iflevabli
C) QgL ghlevalli D) Gprufi gflevebli..
The suitable type of drilling method for sandy soil in a river bed
A) Flame drilling B)  Calyx drilling
c)/det drilling . D)  Rotary drilling.
73. CaCO , QenssoreTen s BHDOL LG ad@Y Qluwr :
A) HITeusHIuT B) wgomeumiges
C) Sled D) Grlgrer,

A spring deposit of CaCO , is knwon as

e
yd
A) Calc Tufa B\’ Travertine
C) Sinter D) Natron.

74. @hdluralle Geusiell @anhe Seralld ahs LIp Lgaysaflgu e Corhg dler &dlng?
Al SRS B) WD
C) g5spTHD D) shsb, subd LHMD GGEBHTEHD.

In India. Silver is found in small quantities along with the deposits of

A) Gold B3] Lead
C}  Zinc DY Gold, Lead and Zinc.

616
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78.
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27 GEUG
ag LGensi $ryg uanhand $TiheE ?
A) HOST B Guéeur
C) emipL D} sefinedo.
Choose the placer mineral from the {ollowing
A) Mica B) Feldspar
CMarnet D) Clay.
eramQleonis wHMID Guhems eury GLllayesT SEOWHSIIILL Sy 60T ()
A7) 1946 B) 1936
C) 1956 D) 1948.

The oil and natural gas commission was established during

A) 1946 B) 1936
//
Yy~ 1956 D) 1948.

@ug shseild LRGmeUTE éa sraouuBdng
A omGansmis Qe B gostus Gengd
C) pememigd @am@d ‘ D) swsans Qared.

The horizontal axis occur in crystals of

-

A}~ Hexagonal system B)  Monoclinic system

C) Triclinic system D) Cubic systern.

UleiTaumd Lig shiseiley o8 @aDhe o @memnila satkamener Gunn Gmeeh 2
A) &8 G D B}  eetoips cugey

C)  mreig (P& eugey D) uesafl®m pa aungey.

Which of the following crystals have least number of surfaces ?

A) Cube B) Octahedron
e
C\} - Tetrahedron ‘ D) Dodececahedron.

Blev iSliey emevmenter Guyflaneu 2 e megb GgrLsrsg Ggflay Cews
A} P>5S>1L B) L>P>8S

C) P>L>8S D) P<S<L.
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80.

81.

82.

The disaster sequence of the seismic waves are

A) P>S>L B) L>P>5

C) P>L>S D)//;<S<L.
Eroweiletles Ceudluilucy sal @

A) H, Fe"33 {B.OPI)28i40 19 B) Hg4Al;(B.OH),Si,0

C) Al, (B.OH),Si, O D) H,Al,(Bi.OH),Si,0

17
The composition of Tourmaline is
A) M Fe'?(B.OH},S1,0,, By it ¢ Al ,{B.OH),Si, O,
C) Al 4 (B.0H) , Si 4 O 17 D) H Al 4 (Bi.OH) o 51,0 19
QoL rGemdmgad Apeulnrs 2 oL M@GD seflbhissT wranea 2

A) sLIEmITL B)  &e&blenim

C)  wretilgsmeoti D) @6 SenerHab.

Mincrals formed by melasomatism are

A) Pyrite B) _(_'}alena

C) Molybdenite 15)’ -..All of these.

utigue Isp ulgue I ar CQur@psdl, £6p Qar@ssiufeam GHHsmens
Qeream® sflurer e ews Carhbad

uliguies I urguwer I
a  eafloeoed uten 1. @evLberadg oy psdu uTen
b)  ss(eema Syemoly 2. eevGevesar(
c) Liemeu 3. = @urdu uren
d  sef &@mrrgbg)ﬁ LT 6mm 4. dpremeotl.

GolReer :

A) 3 1 2

N

I3) 4 2 |

D) 4 3 2 1.
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Maltch List I with List II correctly and sclect your answer using the codes given

below :
List I | List II
~a) Basaltic rock I Hypahyssal rock
b) Sheet structure 2. lceland
) Aplite | 3. Metamorphic
d} Schistose rock 4. Granite.
Codes :

A) 3 1 2 4
B) 4 2 1 3
(’»/2- 4 1 3
Dy 4 3 2 1.

83. Q&TR&HUULL sabhribsamand sousllébaab |
L o suurensasit Sl aiews oup Slurenng $lyeiser

. @ suurensea %48nanrs GCurarsy earm wepaleara 9P

FliuTennsd Hliyeiaer
L =y guurapser Sohu cuemsunea GeoriBumebighs e

V. ayp gourepaet Outhy eueewre CasGarelisas.

Gloudpret :
A) 1 opod IV eflurereseu BY IVl @i eflurerg
C)  lwpow I sflurersoe D) owardabd sfluraamel.

\ E_Si_G } [ Turn over
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84.

85.

Which one of the following is correct ?
L. Stocks arc smaller Patholiths
[I. Stocks are probably cupolas ol hidden batholiths
IIl.  Stocks are smaller lopoliths

IV. Stocks are larger lacoliths.

Of these
A) Il and 1V are correct B) 1V alone is correct
d/ I and II are correct D) All are correct,

g8y GerssiulReier g utep ue Crrassile FET® LT G PoLleT 6T
UTEOmE&EhHL a1 GTEILHD. 2@s s,

Al GrgGurearflues Qe

B)  Gigndsulliigenment & 6o 6001 DU LT 6o

C]  oyengensl arfloamel Lmeann

D} GeaioGueyl.

Which one of the [ollowing rocks is often asséciated with pillow lava and identify
it.

A, ‘Radiolarian chert Bj FFossiliferous limestone

C} Andesile basalt D)  Ignimbrite. |

G e 13 yFsaEs e Gk owwupd GlubmisTerg.

A} Queéurest su@Liyenan Hategy CHT @S

B) @uéurer eugliyeien prHlarenrs Qs @

C) Queren suglysien amGarand g e

D)  @ueure cugliysien TsGsTEaTamdy Cgredl.

Planc 1;3 axis and a centre is present in

A)w"'.l/\lonnal class of cubic system

B) Normal class of Tetragonal system

C) Normal class of Hexagonal system

D)  Normal class of Orthogonal system.

C = |
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86. Bevev HOWEH Gsbhere Glgs sri(ang 2a . 2a 251_3 aC

87.

88.

A}

C)

1120 B} 1130

2210 D) 2230,

Milter symbol [or the indices 2a . 2a a3 «Cis

A)

C)

1120 : 1130

9210 Dy 2230,

LSl HlatClaL g é Helreih aratug Guug aflendsuuidling

A)

B)

C)
D)

o wrélflurer orply Pallaaluger soheadles erbGurdleyar serh Gy
@lememoTLm s @)HHGHD

i wrglflurer orflu Gelaalligst séeafsn srbGurdlayes serh oG
QeI & QYHSET ).

spHeU S GNIHG Hallealli, oidfle Gleamurear arbGuréled gerd @b
anse Copult Galdaain odfle emrhCurdled gab @lemeoruns
LimeeTg).

Polysyp#tictic twinning may be described as
A type of repeated lwinning in which the successive composition surfaces

B)

C)
D)

remains parallel

A type of repeated twinning in which the successive composition surfaces
do not remain parallel
A type of cross (winning in which the composition surface are parallel

A type of mulliple itwinning in which the composition surfaces are not
parallel.

Helletmentiny eredtLg)

A}
B)
C)
D)

B)
C)
D)

2_Hordu salonsales Sleaeayb oflg
2_(HIF B Getlinhiseiles 26 &b

2 (HOTHU Haflohsaticy G)eeme
@lemey 2iemesT HEID.

Twinning is
i

.\

Very rare in metamorphic minerals
Frequent in metamorphic minerals

Not found in metamorphic minerals

All of these.

616 | [ Turn over



GEUG

89, f."':gtu & & 6ot |

Qe ililemend Qe eflumen @emeotiiy erg)

a)
I3}
c)

d)

A) 3
3
c) 2

13) 2

@wnmsﬁ--' RN

32

@menyselidy uTeon @leewe; whnt CSsrHpsEinDeDd o een

H)Hw@ (34 !i'i6é'|[]) ;9:994

b c d
4 1 2
1 4 2
4 1 3
d 4 3.

ailflaun &8 Lreny @)enetiey

nenm @jemenn ey

?

. GiyediReuey SypHBD
. RQi_stauemay elensg
3. Qb el 2pdHsb

mneusmri (Columnar) Genesey 4. apwila (Shearing).

Match the following and choosc the correct answer for Joints and their genesis.

a)
b)
c)
d)
Codes :
a
A3
w5
c) 2
D)y 2

IExtension ‘joi.rlLs
Shecting
Conjugate joints

Columnar joints

4 1 2
1 4 2
4 1 3
1 4 3

616

1.

2.

3.

Residual stress

Tensional forces

Teclonic siress

Shearing.
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33 GEUG

@Qbg safngdled Qeallbdlein amemsrerd

A) @uemlb B) eplem_&
C)  erediliLemyl D) ardmal..
Twinkling is found in the mineral

A) Gypsum B) Rutile

C) Cassiterite | [)l/C;};:i‘te.

mwaGrrenae @iluure Sifllrer gewlamu 2 Guere urelldlanGia 4 &

Medleneilin s (B

A deul  Bihereuedt 6L L el

B) Qevenu 1« Guifldlemend g1 L kel

C) Ouflfloaaa « g@Tigas 50 Lkee
D) edeoul ¢ oatlGués Hales.

Microline shows a lypical gridon structure due to two sels ol polysynthetic

twinning on.

A Albite + Acline laws B)  Albite + Pericline laws
Q) Pericline + Anorthite laws D) Albite + Manebach twin.
ahe Ghe peplle evdauiteu Guly 2 LGwrslu@ss LESDE

A) sQurelles &phts @g;rr@e’u B) @Berml Gamirey

C)  VGenair syhasd 0o fla D)  geurGlaeor. svGmindliy.
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93.

94.

In which mining method the sluice box is used?
A) Kaolin mining B)  Glory hole
C) Placer mining D) Overhand stopping.

oo Hla flia ghuRdCurs o @bl Tesmyy He diea Sowasamensd &furen

wpeopdllés eutlens LS.

A) 'S’ gemevset — P gemevsel — 'L gemeuden
B) P oemauastt - 'S’ siemaudelr — 'L gjemeumel
C) P gemeusmet — 'L gemeuaet — 'S iemeusel
D) S emudmeT — L yemeuser — P oyameumef.

Choose the correct order of arrival of seismic waves during an Earthquake.

A) 'S waves — 'P' waves — 'L waves

B}’ 'P' waves - 'S’ waves - 'L waves

C) 'P' waves - 'L’ waves -~ 'S' waves

D) 'S'_ waves — 'L waves - 'P' waves,

H@OHUTEDD, 2_(HLTHDD e HE SHETER GG cbev urenpules Gt
A)  uTgT evERen B) o76Gam empen

C) dsver D) e&weoLl..

A gneiss derived from igneous rock due to metamorphis, is known as

/

A) Paragneiss B, ‘ Orthogneiss

C) Migmatite D)  Agmatite.
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BITEED &L_15 65T @aﬂmﬂ@&s\) €T 0T
Al o=1658¢c=1625 B) ®©=1.658;¢=1.486

1.668; £ = 1.742.

C) o = 1.555: ¢ = 1.667 D) w

The refractive indices of calcile are

A o=1658 ¢=1.625 13) " ©=1.658¢=1.486
C) w=1555¢6=1667 D) o=1.668¢=1.742.

ulgwe I uvigue e Guigsdl. SGY Q&rr@éa&ﬂuL@eﬁsn GHEHseen s

Qareo@ efluten el owsd CarhGsR :

uligweo I ul g wee I
a)  eeol 1. &dlf Gubsnd
b) Qo lyf 2.  GOryart CGarlur@
c) ey Geugleort 3. yalhler euwsy
d)  Syu Qaevellen 4. yailgsl (o6 iy s Gariur(.

GRS e :

Al 2 1 3 4
B) 1 2 3 4
C) 2 1 4 3

Dy 4 3 2 1.
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97.

98.

Match List I with List II correctly and select your answer using the codes given
below :
List I List IT
a) Kant 1. Radioactivity
b)  Marie Curie Nebular Hypothesis

c) Alfred Wegener Age of the Earth

L N

d) Lord Kelvin Plate tectonics..

Codes :

A) 2 1 3 4

B 1 2 3 4
04/2 1 4 3

D) 4 3 2 1.

&1p CameorReureim Blasat @hs cumaamus sTiHeg

A)  Ulverev euems B) uwuy dless

Cl]  hsreamel D) (@emeu SsnatFgib.
The lower Gondwana coals are mainly of

AAmmous type B)  Lignite type

C) Anthracite D}  All of these.

2 HLTHRU UTenpsseiley arepriu@ib @@sLrb (peopursd 2 meuret jenwiilen e

alleufléa@n (patellenemiyg Glame

A)  ungr B) oraGan

C) @ealenr D)  enrenGLr.
Metamorphic rocks having palimpsest structures will used the prefix
A) Para ) B) Ortho

C) Xeno Blasto.

616



99.

100.

101.

37 GEUG
L. ir&en ersdiagd Sy sampureny Weteumd saapursmpsealld eaaasws srihsa.
N A5 CQualeneis Bl fidlw CarGurelgen
C}  dflu CGuieGaneds D} ddlu CauCaneligan.
Stocks are the types of
A) '/S/n}aller phacoliths B) Smaller Lopoliths
C)\/Smaller batholiths D) Smaller Laccoliths.
(PEIY Sub e Geaild prang Lyly seb Qs sT.Hdlns)
A) o edlales B) HESEOIIT
C)  Guemni. D} anrier Qen st .
Three axes of four-fold symmetry is shown by

Wﬂ'n B) Galena

C) Baryles D) Hornblende.

ulgwé sy uligue Ila i a QurEpsdl, sCp GearGesiul Heier GolEssmen s
Quanem® sruna oo enwd Caihls@ -

LLagwe I Ll iqwen II

a prd ud evurr 1.  sagnes eu@aellGamadi_ya o @

QBT GTenFL

b)  eeéuGeverorl et 2. @by bHés Cmeennl

¢ oGameneil 3.  Qaeien Gigefleurer srdemeal.

d)  syhmenTl 4. smcvensligedt sph Uevgdif.
GBlEser :

A) 4 3 2 1
B) 1 3 2 4
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102.

103.

Match List I with List ITI correctly and select your answer using the codes given

below :
List I List II
a) Dog loolh spar _ 1. Calcite with acule scalenohedral
form
b) [sland spar 2. Iron rich dolomite
c) Aragonite 3. A transparent variety of calcite
d} Ankerite 4. A polymorph of calcite.
Codes :

a b c d

A) 4 3 2 1
B) 1 3 2 4
C) 3 1 4 2

1)\./ )

afgoéa&;gmn_smsu&)@m L dlenTeug & 2 (horhHh&ESeTe 2 (FheuTHETH UTED eg) 2
Al sTlLdlenmenenl B)  owbereneal

C) FUERELE HEY D} calee@eurementL.

Which among the following is not produced by cataclastic metamorphism ?
A) Cataclasite B) Mylonite

A ".I.Viarble D) Phyllonite.

Ulesteugpd arien susmedler Ceudlifiwe snlsmioli Vs aradlub Eymuudlaame 1
A) s GlLsrvenTT emL et B) wyeuGpmeneul

C) el Gym @yraeumT D) syetngenL.

IR
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39 GEUG

Which one of the following garnets does not have calcium in its chemical

composition ?

N épessartiné B) Uvarovite

Q) Hydrogrosular ' D)  Andradite.
erfliemeudiain g QlauafGuHpiLED s qpenen s shHurepwlea @uuwi 2
A) Sourel. Sgédlur B)  ®@emnGrl

C)  esrarwlrl D} efloeme shemn@rl.

A variety of breccia with angular and sub-angular [ragments derived from

volcanic eruptions, are called
A) Fault breccia BY Agglomerate

C) Conglomerate D)  Volcanic Conglomerate.

ulgue I ey ulgwe I o e sflureal QurEsdls Spé @iludlDeren @Blupeafla
2 LuenL e gilure allem_soug Caiey Qlals

uligwes I ulique IX

a)  umelld sHEpid 1. uss getenn ClETedIL &

b)  eudlallgé ap@piy 2. eer (3y)

c)  opble shepbly 3. BHEHD SO WG

d) &M1& HhHGPY : 4. HemAWENEOT gq@muq.
Ghlupeer

a b c d
A 4 3 2 1
B) 3 2 1 4
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Match List I correctly with List II and select your answer using the codes given

below :
List I List II
a) Block lava 1. Viscous
bl  Spilitic ]a_va 2. Aa
¢)  Acidic lava 3. Mobhile
d) Basic lava 4, Pillow structure.
Codes :

A 4 3 2 1
B 3 2 1 4
& 2 a4 1 3
D 1 3 2 4

106. ulgué I uigud Mo e sflurel CuUTGSSS Sps @D Gater @HldGsefer

g Huem ey sflure allen_sowg Gaeay Clews :

U iqués I U igwés I1
a)  GemaniTiby weme (&.HT.) 1. yGreiwid
b)  erée uaassTeE (9 U.) 2. dHevsatl
¢ yepfls uaenseThE (Hedib) 3. uTéemsL
dl  yd urensd GeTEIY 4. orsHarengl.
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Match List I correctly with List II and select your answer using the codes given

below ;
List I ' List I
a)  Chalk hills (TN} 1. Uranium
b)  Araku Valley (AP) 2, Coal
c) Ranjit Valley (Sikkim) 3. Bauxite
d) Bhuj formalion 4. Magnesite.
Codes :
a b c d
A 4 3 1 2 )
B 4 2 1 3
64 3 2 1
) 3 2 1 4,

Weseumin yalueviSlud ergemmsefiarra Slead opwre obésslLED GYPTie
Sleompyseftedt Curdg wTmg e FIpg :
1. Gempb urenpls Sleneyamefledt & 6iemio
. @prié dleom sewesuubbd spuddlée ghuEb g{@gg)g)é]e&r Geumur®.
L Geupiut L 61961586 eDLEI_WU LTEOD&ET ienohdl(hHse.

V. dleab Hes sflas oy psdle owbdlma@h sy uTannsaflda

HETTEOLD .
@leudmyer :
A) I whmo IV eflwrerensu B) 1 wbmid I efures emeu
C) L il whnn I sflureree D) I HI whryd IV sflureremeu.

Deep bore holes are liable to deflection due to certain geological factors :
[ Joining & fracturing of rocks
11, Sudden variation of pressure applied during drilling.
{Il. Presence of rocks of differential hardness

IV. Steeply dipping hard rocks at bottom.

Of these
A) I and IV are correct B I and IlI are correct
C) 1. I and Il are correct ¥ 1. i1l and IV are correct.
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108. Qunhgseiset Qarenl eomielensi () eTesiug)
A) _GurengL{ B)  eswaian (p
C) Lrellemyl @ D) uwsrel (.

109.

110.

Larvikite is a coarse grained

A) Diorite By Syenite

C) Dolerite D) Basall.

g fluren suflemswles GaresorGeursrmailes e pae Lgsull UTENDU LIRSS HTHS.

Al BHedasf wewpurenn. seflbets LTenD

B)  assflne, Hladatl, GupbLésee

C) wewhuTem, sefioas, flevsat Lgeub

D) seflnegor, wesihuran, Heda.

Correct order of Cyclic sedimentation of Gondwana is

A) Coal, Sandstone, shale B) Shale. Coal, Ironstone
&y gandstone, Shale. Coal seam D)  Shale, Sandstone, Coal.
Cusarsigdler seash@by Byiuiul L Lgdlse

A)  urenn wyly Hleversefled bHHW LGS

B)  ureen ouly @ps{H whHnh Lesrsdle

C) = e urenpl Slerey

D) derallt Qumpse bHmb urenn WHlayseaie.

In phacoliths, the Igneous material is filled in the following place

A) Middle of the limbs B>/Crests and troughs of folds

C) Thrust faults D} Cleavages and fractures.
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111. &ps Qarfésiu’ Gerer susgul sdheu Lrep wig iy euamesiar Guwrd

===

A) G eml gy B) GOehissHa wigly

C) Sl wigliy D) woré wgly.

Idenlify Lhe type of fold given in the sketch.

__‘——x.____
e
A) Isoctine lold B) Vertical fold
G)/ Recumbent fold D)  Drag fold.

112. erfuGsorl. 2_sfen @uhbLS g,rréj
A) OIGiremenr B} el
C) Ganwem L D) Sleyl.
Carbonate ore of iron is
A) Limonite B) llmenite
C) Hematite | Siderite.

113. &peumenateupmer sfluren Comgeniug CQphey OFiis 2

Al LaGur gflé — sleLwrer wned eued cugh
B)  @Lwa@s@ gl —  sedllweer gygrissl

C)  gast g —  genyemar O

D) Gualf ghlé —  aeooolenoil By @I SeOHDSSHE.
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114.

115.

I16.

Which one of the following is the correct pair ?

A} Turbo drill —  Flat twisted steel strip
B\/Diamond drill -— Mineral exploration
C) Anger drill — Tricon bit

D)  Rotary drill —  Oil drilling.

2_(BrHu uTeDsefld STaTTERIDLTS HTE@BIULLTH ST N6
Al QediGLrenen B) yGerlarsul.
C)  wevGasrensut_ D) euBurenLL..
The mica which is not common in metamorphic rock is

&  Lepidolite B) Phlogopite

Q) Muscovite D) Biolite.

el HoHallCw sremTluED 2. (HETEIL sUg eUpETen UTenDs Hheen Blanbhs URemswles

Quwr
A)  dgreué B) 2 mpoearssd uhems
cy ALY D) @ Seagab.

Loose rudaceous deposits with rounded fragments are described as

A) Gravel B) Pebble-bed
C)  Shingle DY All of these.
Slesieumn sougrééle saiivhseilen aféd Comgud Einéeh 2

A) L B) en_Wwliensl

C) 2 ereuBLrevai D) gl

Which one of the following pyroxene mineral contains sodium ?

A)  Augite B}  Diopside
o
C) Wollastonite ISV/ Aegirine.
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118.

119.

45 GEUG

dipeumeues eubpien ergy sflural QuIrmeeiul Heieng

A) ETEBTEN L emIL_L — Ca Fe Si 20 6

13) T —  yeurr-dlenmey ByemioliL

C}  ggiflen —  eweuTLrar gpefl

D) o wirliemel — dlgdura WetCuregBrmuils.

Which one ol the following is the correct pair ?

A) Enstatife — Ca Fe 51,0

) '..A‘ugite — Hour-glass structure
C)  Aegirine —  Symmetrical extinction
D) Diopside — Story pleochroism.

UL Meudhannl_ e eTaT LD &eooretonmbyy) LReoswle Camhnid

A) 2ufen sueme s s B) 2 dif-Geaudlllwey arimhssy
C) Geudldlues sripse D) @Quésalue Eriphsa.
Stalagmites are the limestone deposits of

A) Organic origin ‘ ‘ B) Biochemical origin

éﬁ/chemical origin D) Mechanical origin.

& eooteoot g eblhhe LG &HWLTs wTnGe Cupih Glewaur® Geusurn SyepsbslLRFing.
A) 21 GIL &endlen B) GuellenGlgmeiertlen

C)  Wéaoen Coseir D) wall ANIGasaysir.

The process of transformation of glass to crystalline matter is

A) Anatexis B)  Palingenesis

C) Migmaltization ) Deﬁtriﬁcation.

-
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120, uiguwéd I ulgue o La QurEpsd, £Cp QarGssuu e @BlHsamens
Qeran® efurear alleon_owg Carbbs® :

ulgues X utigwen II
a)  ygbu Klemen 1.  eusmiLe aldlpleer
b)  @erhlemen 2. V-eugeu usTendarée
) wdi Heve 3. uroary gemenaen
d)  waflowe 4, Gleusiiens QuEps®é awgen
' mlaulLig euib.
GOpser
a b c d
A) 1 2 3 4
B 3 2 1 4
C) 2 1 4 3

D) 4 3 2 1.

Match List I with List II correctly and sclect your answer using the codes given

below :
List I List IT
a) Initial stage 1. Alluvial fans
b)  Youth stage 2. V-shaped valley
c) Mature stage 3. PPot holes
dl  Old stage 4.  Flood plains.
Codes :
a b c d
A) I 2 3
-
B 3 2 1 4
C) 2 1 4 3

D) 4 3 2 1.
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121. &8 QearPasiul L measalda CLrelGurorille amsaws Cerbag ag

122.

123.

A) dlpreser B)  GamiGsrengl
C)  wyeneil DI GeduGrmuw.
Which one of the following rocks is doliomorphic type ?

A) Granite I3) Anorthosile

C) Dunite d)/ Lamprophyre.

Qb eTetTug)

A) | Qe e T wpesmuilies 2 coor_meor Quiflur &gy Lig euid
Bl Hdlu gesiaeries oo oyl erfinensuls ureoma el

C) Ouflu geeigenme e enflivanet umemm

D) fleopw shish whmd Seuemel 2 emiwg.

Pegmatiles are

A) massive mineral deposits of sedimentary origin

B) huge outcrops of fine-grained volcano-plutonic rocks
&y ' Véry coarse-grained Igenous rocks

D) Bonanzas of gold and silver.

Gall S. augeusgL T Seneeuflans Curetn e uTenn SenwUtler Gluwr

A)  geesullenel udlaaeln B)  Slen@si ufens enoiy
Cl  sreaflans’ ufevs ey D) Flmpdw ufeme iU,
Lenticular shaped ripple beddings are known as

A)  Ripple marks . B} Flaser bedding

C)  Graded bedding D}  Torrential bedding.

GEUG
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124,

125,

BiGerai saflvhsament Jfigs e@éehd wepdled asbubaii L ands

et eum euest
L. Cusett wibmd Sur G
L Areemn evoeydli.
Nl eamgrredls Glenweson s,

V.  @@ermil Camméy.

@eubmyefi :
A) I, Il bhmin I sflureraneyu B) I 11 wHmd 1V eflun erane
C)  Twhmd 1 ¢flurereneu D)  yomarsgn sfluraranea.

The term associated with placer mining :
1. Pan and batae
II.  Ground sluicing
[1l.  Hydraulic giant

IV.  Glory hole.

Of these
A)/' "'I.III and IIl are correct 3) 11, IIl and IV are correct
C) Tand Il are correct D) All of the above are correct.

QiGeret Ly OB e sumailld CaTanding

A)  GuéPeus dlyeu QestiCaaen B)  Qndl@eue anemadigCreayes
Cl  Quésralésd sraaesny s D) s bad sfuratamey.
Placer deposits are formed as a result of

A) Residual liquid segregation B)  Residual concentration

dﬁ/ Mechanical concentration D) All of Lthese.
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126. &péeenL supdleet Cauglilud emyrg uren jeoly agl 7

127.

128.

A) el é B) diGsmedllgs

C)  Muder wrréen D) HGur@.
Which of the following is not a chemical structure ?
A) Oolitic B}  Pisolitic

& Ripple marks D) Geode.

2 T5CHTEGenen LHHID el Gat LOILs8& alldlgrésrrhast wanGu
A) 72.5:27.5 B) 70 : 30

C) 45:55 D) 42:58.

The eutectic proportion of orthoclase : albite is

A) 725:275 B) 70 : 30

C)  45:55 D)~ 42 : 58.

gipeumeussieupmyst a1gy sfural Qur@esuLC Dereng 2

A) wflurant e f ) —  dpwrer gypb

B) asLey Qehggsrea udengsnigser  —  uellurpdler allaerey

0 s poisd | C LeICLI B BL6 bLhe®
D) &sLegéd @eTmaen _ —  saoLgdlar alaflbyser.

Which one of the following is the correct matched ?

A) Mariana trench — Shallow depth
B)  Submarine canyons . —  Glaclal action -
dj/ Continental drift - — Plale tectonics
D} Oceanic ridges —  Conlinental margins.
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129. ureonéd Gpollar Siraugdeyerer g alwi @b Cer@dleeier ukg edrer 2
A) dreus seiennenw 2 widHgse
B) ugsmscidr smeiseilen semmas sl (&
C)  dlyeugdles al HHHIT@DEOW WOTHIISHE
D} (A) wpnd (B) sflureareanea.
The role of volatile constituents in magmatic solution is
A) to increase the liquidity
B) to increase Lhe size of crystals in magmatic crystallisation
C) to change the composition
Ii]/ JBoth (A) and (B) are correct.
130. Gueenfl seeamllanait urdéon wphdlu Olrédlaen
A HaGLsea B)  ueyanGL ae
C)  Mlefeumwi D) @6y LyemerhgiD.
The most important problem affecting masonary dam is
A) Siltation B) Foundation
C)  Reservoir I’D«TAH of these.
131. guGarean weney GlUTgOITas HraluBeaug
A) GeUTTL & _ B)  Quéevurr
C)  @redles D) eareesl (.
Symmetrical extinction is usually found in
A) Quartz B}  Feldspar
C) Tourmaline ﬁ - Calcite.
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132. o Guflur s dlagdlda 2 sraurtd Klapalle aTeub

A g Geurasilwes B)  Qeblfiue

C)  HNGL Hlwev D)  sTTuTelGurey.

The period of Umaria Marine transgression is |

Al Devonian B) Cambrian

C) Cretaceous |92 "-(ia;rboniferous.
133. @mihe wpenulé 2 efer @)L Ul &inyeob

A} snevaurl ETLg i @BLUsTE

B)  JdeuGetm @ulgiiy @mrugre

C) geveul whnd Quildlaess Gl GmuugTe

D)  wrellurd whod CeuGetn @Il EHUIUSTE.

Cross-hatched twinning is due {o |

A) Carlsbad lwinning

B3} Beveno twinning

&y 'f-.....Both altrite and pericline twinning

D) Both manebach and Beveno twinning.

134. 0.1 HLS. apae 1 8.5, eeraperw Adlu wHnbd el L sugeiepsien wigeu uTenpules

Syemwlidler Guwr

A) NCsrellligé B) 2mellgs

C)  mr@ef D) srandlNayerd.

The small rounded particle, ranging size between 0.1 to 1 mm is called
A)  Pisolilic ' Bl Oolitic

C) Nodular D)  Concretionary.
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135.

136.

137.

&8y GarHesuu@eiercubmer 6hg uTenp FlGeTevGwerTL. Ligaid 2 L TeughE

QTS SHLTeT gy
A) & QUOTGOOTIDLIL LT 6M) B)  wempuremm
C)  @eunil evensl D)  dlyemesi.

Which one of the following rocks is the most suitable for the formation of

replacement deposits ?

o
AJ/’/Limestone B}  Sandstone

C) Quartzite D} Granite.

@\mbL g mswrrj)ﬁnmga THG CUERSHEDWE 8TTHSHE ?

A QydlReudy e B)  dlewneuig s cuems
C} e dfleb erihs cusms D} Geudllwes suems.
Ferruginous sandstones belong to which type of deposit ?

A)  Residual type B~ 'éi;';\;,tic type

C) Organic type D)  Chemical type.
OyestL st arribusiy Olesteumd euemsdland 2. uBuralu@in

A) uTempuled gL b whmb sflereu Serée

B) fHlossy B wlt_Hos JeThHs

C)  aLld Syphens y6THS

D)  uTepUlS 2 WTSDDH SieTHE.

The Brunton compass instrument is used for .

Al To measure strike & dip of the rocks

B} To measure waler table

C)  To measure the depth of the ocean

D)  To measure the height of the rock.
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138, ‘ueherT euTaILG 2 6ien Gebil Al Trdey erhs @) .SEld 2. 6eng)
A) Qg il B)  feur
C) Urh &It D) BT .
Panna diamond Field is associaled with couniry rocks of
M) Scmhri m d Rclwa
C) Bhander [3) Kaimur.

139. Speumeusmeupmyst ergy sflurat QurEssiul Refeng: 2

Al selllurenps sifley — et
\
B)  grbedeen —  aflu flemseys amethissilean @alludaen
C) Qurep Bé&D — e (hmaTeLd Slangal
D) 2. 68 ahGaa: —  uelliunenhseilen giets aflay.

Which onc of the [ollowing is the correct mailched ?

A) Avalanche - Esker

B) Drumlins — Accumnulation of angular debris
e [i;(;”oliation -—  Spheroidal weathering

D)  Scree ' —  Sudden fall of ice mass.

140. Qudsvugril sellohser sTeaolu@b uTanm
A) dlimene B)  slemesl
C) GauGim D) SN LIEn eIl .
In which rock the {eldspathoids are constituent minerals
A) Graniles B) Aplite

C) Gabbro [b)/Syenites.
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141.

142,

143.

FCp Qar@ésiul@sien e swmenl urenula. GQpNefler wHmo Cerim

GO Serdlest GIHITEHoTL LITemD eusmas WM g ?
A) Nsemyl Bl  Qarement
C) 2, 08,65 -6 g LIen FoTL D) wGomremeu.

In a syenite rock given below, only nepheline and soda pyroxenes are found.

identify it.
A) Picrite B) Theralile
C)  Alkali-syenite Ly jollite.

LEDILIT sreotULIHID emolil] GIUTgeurs ST eosiiuiie s
A)  apayL Blgeumest Hlelugdaeie

B)  ueflurhonl ugdlseila

C) QeusteriQumsHEU LGhseila

D) QLeLmil uggleeiley.

‘Bajada’ type of structures arc usually found in

-

W~ Arid and semi-arid regions B}  Glacial region
C) Flood plains D) Deltaic regions.

G swilod Queberald da Hushed whnn Caewrda eaalhe 2 DusH
LlelicusnE OLwr

A)  euggrolgils HaflhiG 6 B)  esenedlue seaflwhige
Q) g ed selnrms D) Guridsmed Coemey Heallnmhsel.

The minerals whose resources are quite large and produced in sufficeint

quantlities
A) Strategic minerals Wscntial minerals
C}  Critical minerals D)  War supporting minerals.
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144. Goreiels srenile@n vamyset Uleteumomn)
A)  uTeD&GPhY G0 CQuuihs uTapseiie 2ar@H(keyse
Bl guiebhn 2 @Gausmniy
C)  umeand @GPy e cuellemwouyi a1 es@Bimeyd LMemmeow @b LD Qéu‘.@s’u
D) CGule @arResliul L wireyb.
Chonolith exhibits the following features
A) The magma intruded into a dislocated rock
3) Irregularly shaped
C)  Magma forcing the invaded rocks apart
ED)’ : A]l of thesc.
145. dipsaavi salln cumasdie abs b 618 CLIGSS DT Sdae 2
A) CurGenens. - B)  @euwmeaneri
C) empeoev D) sedeoT.
Which one of the following mineral is not {it into the category ?
A) Monagite B) [Imenite
C)  Rutile D,}"ﬁéalena.
146. ueipe QusbaL 16 ahals Lgddlea saflbeuerd &TamiL@D 2
Al grsdle B)  &eui ugdlle
C) @l ugglille D)  »HU ueHl.
In a complex pegmatile, the zone that is richest in economic minerals is
A) Bor-er zone B) Wall zone
\C'I Intermediate zone D) Core zone,
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147.

148.

149,

s‘?lﬂ'pésa:eb'mg LT EmaEh e WBesa ([0 LG &HW0LDTHETey 2 (HeuTe.g) & 2

A)  Slevl B)  eopey

C)  dnnayemel D} @emeu SevasiSein.
Which of the following rocks are duc to recrystallisation process ?
Al Schist B) Gneiss

C) Cranulite F All (;f Lthese,

wiHHw NinCassdld S soid wrisats srasaaila (HeHETEOWLT D S
A)  eouGrmeyengl B) | 1 TesenTL

C) | G G Beuedt D) GyrGunmemesn.

The chief manganese ore type of Madhya pradesh is

N) Pyrolusite I%?’ v é»raunite

C) Psiolomelane 9] Rhodonite.

af%'pau_:'r_;msmm[b@sﬁ ergy sl sl Qunme st Heeng) 2

Ay evand@uir Quiflwes — Guélwey g,d8m e enhgeTen g
B  glaCarGullud — Guilud @at owusEe Hemheeens
C)  yGyrGuflwes —  Gudlwéy @8 cuepenhg SrewlLfS DG
D) yGym GurGuiflues —  Guédluey @éar aﬂ@u_lg,rras 2 GiTeng..

Which one of the following is the correct matched ?

AY/ Hypopartan — 'Facial sulure marginal
3) Ophisothoparian — Facial suture centred
C) Proparian —  Curved [acial suture
) Protoparian ' — Facial suture smaller.
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150. gaefl@eroieur siriuim G, 2 eier WwrHhlevd

151.

152,

A)  sIBTLGT B  syhdly NyGasd
C) wadlu dyGsen D) Jemrr.

The Agnigundala copper bell is located at /

A) Kamataka | B} Andhra Pradesh
C) Madhya Pradcesh D)  Bihar.

Qi Gemwrigs FlGmevGsa’. Qsipen peLrGunid Gurg uflordp efsib
ersbeusmales el Oumidlng 2

A)  semeueralles Gimha soauaaln® B)  wendle Bimhas owelée
C)  semeile Gobha saoalbe D) @evew Syemegab eflumananey.
During metasomatic replacement process. the meode of interchange is
A) Volume (o volume B) lon {o Ion
C) Atom lo Atom Dy “All of the above are correct.
Spsaeaeubner o furen @eeao ag) 2

L ureGeir - Samr.

L. wre@am - sblpsr.

. @ksreGar - 2 ss7ilCasen.

V. preGsar - premerhg).

@eubmen :
A) L. 11 whmyd U edlwm soremew B) 11 wbmyo I gflwr e enen
C) 1L I wpmb [V eflurerane D)  Semenggb eflurereney.

Which of the following pair is corrcectly matched ?
1. BALCO - Bihar
[I. MALCO - Tamilnadu
[II. HINDALCO - Utiar Pradesh
IV. NALCO - Nagaland.
of thése

A) 1. 11 & Il are correct : mm are correct
C) II, III and IV are correct D) all are correct.
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153.

154.

155.

ariel -&ldelnamel saflwhisnal 2 e w T

A) ST esten &L B) Caraom_enel_

C) FueUhHHG D) Gf&@eurrsmsn'_.

The mincral assemblage garnet-sillimanite is assogiated with

A)  Charnockite B}~ Khondalite

C) Marble D) Eclogite.

QDG ITUWT LTEND BLPESHGETTL (eI & ki 61T 6v &@L Ot dm e

A)  @eurrlev whHrb Guidwevunt op kbl Gueedis UTamSsl

B guiueGsrbpd GlemesoL G\usbsiuurér’r. eurTeedles wHmd o OUGUTE
gellnhse Qumphelu ey HoID e

C)V ppbsbn Garhph Camea. @GourTlev, oTfsGsraiGerey bHODL &y edlalar
senbhigsenhdlu CusCarelgaen

D) @eoe umoer emey GHTETL @euriiieu, Gludeuunrt whmb uGwn e

sethobaer_ bl QusnaLL. Genipsen.

The Lamprophyre rock is identified in

A)  Felsic rocks composing quartz and feldspar

-

-~

B\//'Dykes and sills with abundance of euhedral feldspars, pyroxenes and
amphiboles -

C) Batholiths consisting of anhedral quartz, orthoclase and olivine

D)  Pegmatic veins composig huge size quarle. leldspars and biotite.
dlgremenil.  urempurerg  coycaniflen  whmid Brrell Wedund Geudu-eumy
2_(Hurhnsdiie 2 | u@ibCurgy de liug

A Qeusienerd seflipetor B)  @fweles

C) e ' D)  Qedlangl.

The product obtlained during pneumatolylic metamorphism of granite by the

introduction of Fluorine & water vapour is
A) Kaolin _ B) Tourmaline

(yf | Griesen D) Sericite.

{Taie |
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S peumseucoeuinen ergy #flural Qurmés i Pererg ?

A srailgeb —  gdle Qeniugdler 2 meur@d CuGUTH

B)  eow&sGimelemen e ——  enflibemes uTemmeetid eTeamiLGD GudvsuuT

C) oy iGardlGeaen —  geondleilalls Qangdiies LgawTEgbd Guesurt
D) @y deul — GauCy urempaeilé 2 een Qudvsru,

Which one of the following is correctly matched ?

~
A\)/ Sanidine — Feldspar formed at high temperature
B) Microcline -— Feldspar occuring in volcanic rock
C) Ortihoclase — Feldspar crystallizing in triclinic system
D) Albile — Teldspar [ound in gabbros.

U &S0 QLU auendsHeen LSlThag 2

Al tleoewnp &e Bl 65 Se0LULOL W (PHevsD
C) W @) HULD () GleTanoud D) @ubenswren Ligs&b.
Crystals are divided into types on the basis of

A)  Disposition of axis By Symmetry elements

C) Presence (or) absence of centre D) Nature of the crystals.

LI & ETeBTLIG)

A) Qerirédlurer urellanl Té yemwly Weanesorhamiul L eupeuapUiimes GobLgiiy
2L WeHe

B) flésworen 2 et yewlienuls Cubmsiens

C)  Gleusfll syewisiengy

D) @6 e HE.

A Crystal is

A) the regular polyhedral forrﬁs bounded by smooth surfaces

B) having definite internal structure

C) ha\fig.g external form

[h/ ;dl of these,
[ 616 | [ Turn over
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159.

160.

161.

ug sellwedlés sesragirsdles Quwr wrg 2

Al o aenGaren (paaug ey 1)
C] WM GH(LPSH eUg6Y D)
What is the crystallographic name of Cube ?
A) };chaoctahedron B3)
(% //Tetrahedron D)

e 6uIg eukiIsalle LM guigeuD

A) sasgns Qer@dl B)

€] gusrup Cened D)

All forms are general form in

Al Cubic system B)

C) Monoclinic system My

MBHnecor (P& eugey

BISTE ADUPS eugey.

Hexahedron

Tetrahexahedron.

omCareang QarEd)

(péariisy Cered).

Hexagonal system

“Triclinic system.

uiguée ey ulgue Iz La Qurpsd, sCp Qar@asuulGerst GilliGsamens

Qarae® sfluren alle_aws Coiboled :
uligwes I
a) 218l 5GL_dvetv
b}  wTéHse
c) Uh& a6

d)  @erurlldvers urem gismet et

il :

A) 3 | 4 2
B) 2 1 3 4
C) 1 2 3 4

D) 3 4 1 2,

(616
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163.
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Match List I with List 1II correctly and select your answer using the codes given

below :
List I List II
a) Amygdales ' 1. Volcanic rock
b) Pumice 2. Asstmilation
c) Quartz 3. Filling of Secondary mincrals
d)  Xenolith 4. S0,
Codes :

a b c d
A\/e. 1 a2
B) 2 1 3 4
C) 1 2 3 4
D) 3 4 1 2.
dean eugen Qéserpd, sgafeowra 2 &8wawh GekgsSsrea sno@é afleyb
LlemesoT(Remen WEBTHEET DG QUL . :
A)  UTTEEET LDEOOTEY @M B)  GurGumedls ety ety
Cl ©nds bewe G D} @lemeu et SEIb.
Sand dune with crescenlic base with sharp crest and steep lee slip face is
A\/ o Barchan dune B} Parabolic dune
C) Transverse dune D) All of these.

g hdlar allmeteund 2 paurssLu@d v voesd Sdwag sLOLLFFlS

GETIHEH &G GIUWT ... :
Al Samen Bl uGLem
C)  @suLrev D)  oybmis S Gaer,

Flat-topped hills or small mountains formed by stream aclion are called as
A) Mes; BJ) Buttes
A:as D} Stream Terraces.
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164. wempenvgysdLr Canlyre - & 2 sfen (pohseilan o crenisans

165.

166.

167.

A) 12 B) 16
C} 24 D) 8.
Number of {aces in Trisoctahedron are

A) 12 B) 16

& 24 - D) 8

DIFOIUITREDL. W &1 651 S HedT empuem_w sestlnddler Gluwr

A gemeniy B) luen_L

C) Seedlwemeoti D} swael.

The mineral possessing variable hardness is

A) Fluorite _ B) Apatite

C)  Sillimanite By~ Kyanite.

S &ellemeni seflwb Gubmsten

A) 6 6968 UYL W HeNbd B) 1 6368 yemilien_w e
C) 3 B EOLILEDILW HeND - D) RHSH EmLULEDLW gemiblveun e .
The mineral Axinile has

A) 6 planes of Symmetry B) I planes of symmetry

C) 3 planes of symmetry l})//N6 plane of symmetry.
Qs Gerani et 2 meud Glupmieieng

A) 8 (potumel B) 12 (perisen

C) B pomset eueng 12 (pamaen D} 24 psrsel
Scalenohedron is a form having

A) 8 faces B) 12 laces

O Either 8 or 12 faces D) 24 faces.
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168. dlov Gl CusBardllgensd aphld sramiuBD 2 Cers FaeUE UGS 2 (KT

GLDUITL S UL G (HLILIG)
A)  augsl Haellar CoupLiad
B)  uallditiy eflwsdles anwpnlalmbe o CGore Ligasmen sagihiese

C)  spalwungd Quigl serréd SuwHsDd Geophs sl ghuin 2 Cears

Feuamli(h) LIg eysel

D) o Gaunskise Menbe diawmd Nflae wen sryeamore unen Geaugliyseil

LG UL G60

The deposition of metallic sulphide deposits around certain large batholiths is

largely related to

A Filtration differentiation

B} Segregation of metals from magmatic solution by gravity

—

Gj/Volaiile constiluents which carry metallic sulphides in the direction of

lessencd pressure
D} Squeezing of metal rich solutions into {issures and fractures.
169. epsaanL Gomgsefla sflure QurmhaLme e
I. S b srout Guew. — S
[ Gasfl ariur Gudl — FreeusTe
M. wrevegrseton’ &moui O — DGTTT e IT

V.  Camsrg - Quéuare GQuél. ~ e,

@) eubpyen :
A) L shoyn 11 eflurerensu B)  lwbmod 11 eflurerensuy
C) I Huwbmk IV eflurersmeu D)  omaensgb eflurarene..
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170.

171.

Which of the following pairs are correctly matched ?
L. Singbhum Copper belt - Bibhar
1. Khelri copper belt - Rajasthan
1.  Malanjkhand copper belt - Maharashtra

IV. Hesatlu-Belbathan Bell - Bihar

Qf these
N) I. Il and 11l arc correct B} [ and Il are correct
C.]\ L I and TV are correct D) All of Lthe ahove are correct.

yildles yemahyeren gmiflyg sngelss yallGuduniy CeusiiuT @, @ees GoGeur ' 16

2_meun A7 h &b
A} @1z ementL B)' creesl
C) Carallemeul_ D) grelsmemgl .

The surface expression of a major copper deposil underneath is shown by a

crust ol
A} . _imonite B) Malachite
C) Covellite D) Chalcorcite.

ol CGyreoudlsd eeim sunigeans Fubn seeaisomen o eeTL dhlu &G 6w e WLUL

QeareoiL urensaer alleufladlna, Cuent obsl urandiar uas Curain dlyaflear

DRI
A)  pietorereTiU LG SRS ETIT 60T 5) B}  5GsrdlfléuL emevedt
C)  emeiub eug.eubd D) sememimgwib.

The term vitrophyric is used to designale an inequigranular lexture in which the

groundmass is

A) Microcrystalline . B) Mesocrystalline
-

C) Granular D‘Q/ Glassy.
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Qamrdle Curesr flev b aeiip Gerdme 2 LCLIGLLESSLLGD sfluTer &rha

il (pemm

Al spyellud &rhs (paon B) JG@eul eu@Lminliiy

C) G ot Souuflny D)  &Geursllesr emwentii.
The terminology "Herring bone system" is used in the following mining method
A) Alluvial mining B}, Breast stopping

C) Gophering D)  Kaolin mining.

&G GlarReslul.peren ag Camy Ligeud Glaame ?

A) Cereun i GG

B)  rwb bhoybd SHSHTGD L d@Eb greuni

C)  whogyse sloLsheb QoY ST

D) &hiyb-6 HeoLs@d smlyb. |

Among the following which is not a vein deposit

A) Gold of Kolar | B) I.ead and Zinc of Zawar
Cl, iroﬁ of Kudremukh D)  Copper of Singhbhum.
e urempuilesr iy ybeb

A} BLEOL QuQUPETET &6l IDRIS 6

Bl  eapl e cpedasryeien sellomiger

C) Qedle Cumesim el

D) @lemey wreyb.

The characteristic property of a schist is

A) Composed of platy minerals

B) Minerals of hydrous nature

C)  Possessing {issility

D All of these.

i—(i@] | Turn over



GEUG 66

175, Seaumph surbdlumsenens ufldelidsan

176.

I. Sisreflean seflalwsd GOULEG Sieney B ofaongb
. fisrs o sarore saflnoTeh

.  dlierd @dlacmmgsa sravbuamgd surfibe sésrl QurmenTs

2 LGWT A& HLILGE DS

V.  disreflar Geudlilud sal H wpeom Zr Si, O

@eunmye :
Al Twl@o efhurearg B) Twbpoe 1 eflurearene
C) L Y wbmb I efluraiane D) Soasgn sthurearaea.

Consider the following statements:
I The refractive indices of zircon is very high
II.  Zircon is a heavy mineral

IIl.  Zircon is used as raw material for incandescent gas mantles

IV.  The chemical compositon of zircon is Zr Si, O ¢

Of these
A) 1 alone is correct B) I and II are correct
& L, 11 and 11l are correct D}  All of the above are correct.

@idluralle flen_Gosdagy Sasd aakuamsuld o hamdng 7

A) al@grne B) (fGsrGaiwe
C) eoanGurllsiiod D) oGamtgrne.
Indian gold deposits are of ............ origin.

A) Epithermal B) Mesothermal
Ca%iypothermal , D) Xencthermal.
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177. 2. murpHnéddhe Qeliussgl WeEEL Trasluns EoWheT e, 26l ®BLrhnds e

Quwrr

A)  y@nLread 2 (HTHOD

B) Qar@ e @murhns

C) Oeuiusésd! 2 @morHob

D) (B)whnik (C) @)ress (..

When heat is the dominating factor during metamorphism. then it is called
A) Plutonic metafnorphism B)  Contact metamorphism

C)  Thermal metamorphism Dy Both (B) and (C).

178. evin@rremen sreonNeend Vsl GugSrmdlen

Al ageyb @)cvemnen B) wehseile Gmna &eul susny
Cl  wepsehadl@mpa Lsams D} usemellebipha 2.
Plaeochroism is staurolite is )

A)  Absent Eﬂ/"/;ellow to Red

C) Yellow to Green D) Green Lo Pink.

179. GurCsrBiraldle @eLeuelleagh sl auisd Qeouaualsgd bEG
eSS WesoTL cughdlest Gluwi
A) & B) &ipu Gurieneu
C) Guwé Gumieaney D) Guriemeu.
Zone between Mohorovicic discontinuity and Gulenberg discontinuity is
A) Core ' B) Lower mantle
C) Upper mantle D}/Mantle.
180. Siquusen slaiwrer ey Qorly eugalerar @emehs SnH@pby 2@ heud
A) GeamiGurellg B} Co&lareils
C)  CGuslardlg D) Sevwedls.
The bun-shaped mass of igneous concordant intrusion with a flat base is called

A)  Lopolith 8 Taccolith

C) Phacolith D)  Bysmalith.
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181. epbenpluemLwren spestenp L Go Carhlls®
A) CuaGrriitlan B)  JCrsdiMwn
C) GCualyrlirbd D) seansayb.
Choose the odd one out
A) Macroprism E}}/{achyprism
Q) Macrodorne D) Cube.
182. Guad SNeramin aeaiLg
A) & Tl & 61T B) deoil smThisen
C) QUL L RIGET D) (A) yd (B) yb Cethog..
Basal pinacoids are
A) Squares B) Rectangles
C) Circles L Both (A) and (B).
183. Qurgeumen o wmend GriwemmuTer yenayantw ol mil
A) (222} B)  (1l1)

C) {121} D) (212}

The general symbol of positive unit sphenoid is

Al (222) B (1)

C) (121} D) {212).
184. uréensl ereueurm 2 et réima) 2

A)  yal Gupurule perLQumbd SlergaEeT &TTeTILre

B)  bedlmen Goers Hleassy G wlLshler oygule

Cl  oahg ugaibd 946

D)  GQyguéley urdeflurailer Glewe sTyeamwores.
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186.
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Bauxite is formed

A) as a product of surface weathering

B) in the reducing zone below the water-table
C) as a placer deposil

D) as a resultl of the action of reducing bacteria.

HEUTSHGEMRL . LTEDD, 2 (HeUTHE SHTOGDTS 2_6Teng)

A)  evsedledlnen seflneim LImemn
B) seuanimiol sebe sefibes urenn
C) &flbl QurEer sebhs setnets LTanD

D) ofigliCGadiuey Ligayseai.
Novaculite is formed by contact metamorphism of
A ..‘.Siliceous shale B) Calcareous shale
C)  Carbonaceous shale D] Argillaceous sediments.
Llller snesoriL@n @wmoLd sTaedies WHdl S sTTD g 7
A)  ugeyl uTempsailc L hHEeTeTE
B @wby dleb 2 aier Gullé cuems erflwemess Lramaeflés smessrin( b
C)  urep @b 2anEBHeued GTIERILTS 2 GOIL.T@h oan Grrblsine Lgeub
D) @by Hens Guadls eflvame uTeapaeiie &ramiuGeng.
Earths p/rincipal sources of iron ore
=
A],/are in deposits of sedimentary rock
B} are from iron-rich mafic volcanic rocks

C)  are hydrothermal deposits related to igneous intrusions

D) are in deposits of iron-rich felsic volcanic rock.
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187. 300 - 700 &.8. syeneflevrear gypd Gumeo Blagydlia) ewoud GareanRerear Bio
SEToeepsel Ouut
A)  Blg oy Hlew sydliey soww Blav yFlTeyeen
B) @eriule fla odlie) spanw Hlo Hflieyser
C) Qeug yywre Hadiey spavu Ble sdliase
D) gngmyen Hleygiteymen.
Earthquakes whose depth of focus ranges hetween 300 -- 700 km are known as
A) Shallow focus earthquake B} Intermediate focus earthquake

& Deep focus earthquake D)  Normal earthquake.

188. dlestaumeventeupmie’ ergy sflursl Cur®sslul_Hereang) ?

A)  sTamel — DU el

B}  auLmgement —  FlefiCaugh @evemen
C) yCarGamemul | — @by B&s et
D} ®iwedles _ oL GSrrudien.

Which one of the following is correctly matched ?

A) Calcite —  Biaxdal

B) Staurolite —  Absence of cleavage

C) Phlogopite 7 —  Fe rich mica
Tourmaline —  Dichroism.

189. BGe¢rQgire Lgeuphdlar Qeuliu oo eTg euemy ?
A) 300 wpaev 500°C suemyy B) | 200 s 300°C cuenry
C) 30 paev 200°C suemiy D) 100 (pmev 200°C euemry.
Mesothermal deposits range between
Al 300 to 500°C B 200 to 300°C

C) 50 to 200°C o D) 100 to 200°C.
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190. Spacii_oeushenel SiWss allesdlaine o (Garsrs sailb eg ?
Al arreTl B)  &SGLm
C) &Genmenn D)  Qafesenl..
Which of the following minerals is not a stress mineral ?
Pay ol 7 (:}amet 7 B) Epidote
C) Chlorite D) Sericite.
191. @uen® g CripeesdleoL e aresiiL@on LB sael
A} ugey L& s B) Qareaedi uRensael
C) &L uems GeTES) D) @eeu SemaTHgib.
The inter-trappean beds are
A) Sedimentary deposits B)  Fossiliferous beds
C)  Non-marine beds m of these.
192. Caren ghsd aIhed a6HE o HSHEHTLLTH Heowndng ?
A)  Ulewt Qang B)  HwrCemedr Ligabd
C)  euLmd ié D)  gedls Qamyg.
Kolar Gold mine is the besl example of
msure vein | B) Shear zone depositl
C) Stock work D) Ladder vein.

193. Qedicusmsd Qor@d 2 Careaearl. oHhnn sSrTgwenyl Qubrueter GaT e g g e

gLl Ulifle parser 60° Seniiyemer LI Hhisel
A onGasreas NiflsuGuligé ey

B) opraGaran @ueiy

C)  omCames GLyent Guey

D) wyiaCerOrminds IflauGnrigs Guey.
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194.

195.

Orthorhombic Aragonite and Cardiarite having angle between the prism faces of
about 60° form crystals of

A}, ."/ﬁexagonal pﬁsmatic habit

B) Tetragonal habit

C) Hexagonal Tabular habit

D} Orthorhombic prismatic habit.

UL &L UG &Reaed 2 sTyamhel el 7

A) ehed_cv LHmD Hévedlienet : B) eowssT whnn Gudeuum ey

C)  SuemLl wbmd anrieiieness () D)  Grulder wpnd CuasvugTIl 6.

The examples of prismatic crystals are

A) Rutile and sillimanite B) Micas and felspars
GJ/Apatite and hornblende D)  Nepheline and felspathoids.

uligwe Ien ulgue Mo e Qurpsdl, £Cp Qar@ssiul Berer GHllGHamens
Q&ren(p sflures afenowd CHihGsE

uligues I ugwe II

a) Guulet whmib GLulé anrGevgh 1. odle 2 upsdlelmbg sevn ghob

b} & anrCagh | 2. g Guresip sullhmemwliy
o) ghue GrmiGey 3. Guiuersmwres gevrliigd
d) erem’Glevev anrGeusd 4. wemew, UMMGETEGH® BlonhHs

LG8
eilpear ; |
a b c d
A) 4 3 1 2
B) 2 1 3 4

C) 3 4 2 1
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Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) Main and tail haulage 1. load from high elevation
b)  Jig haulage 2. rope in the form of a loop
c) Aerial ropeway 3. gradient constantly changing on
the roadway
d) Endless haulage 4.  hilly terrain or wundulaling
country.
Codes :

a b c d
A) 4 3 1 2
B3) 2 ! 3 4
C) 3 4 2 1
D) 1 2 4 3
& D& &L emeuEnel 6 it -jpboallime s sesflnb og) 2
A) L L. B)  ammien Slemel
Q) erinSIGL T D)  @eurdLlev.
Which of the following is an anti-stress mineral?
A) Biotite | B) Homblende
C} Epidote d,]/Quartz.
dlesteumeuaeubmet Wle oyflewren Ui tss QemesoiL seflob
A) GLmaemoL B) yGenmemm_
C) Q& iy &G6TLID D) CuenyL.
Among the following the mineral with highest density is

A) Dolomite B) Fluorite

C) Corundum D)/B‘arite.

616 | [ Turn over



GEUG 74

198.

199.

200.

8y syeney Bleovaulles 2 GHaTGD 2 GOTHRL UTEDsDT GoaudEh Carlgbel

QW :
A o@amrawr B)  o2GardlCre
C) oGaruré D)  oGsrGeant,

A line joining the points where rocks have the same grade of metamorphism is

called _

A)  Isogyre 2V ..lsograde

C} Ispoch D} lIsochore.
gplbLIemeEnL Heolod &hs 2 (hTHDS QeTEiyL s ClgMfyeLwg; ?
A} epduree. Ggmeuy B) easeemel Qargi
C) dfadlav’ Qamgiu D) SCurcrel QsmELly.
Omphacile mineral is typically associated with _

A)  Amphibolite facics By E-Clogite facies

C}  Greenschist [acies D) Zeolile facies.
sresoiymn Blesafls anhen o eren @L.Lb‘

A) gpiflarvenm B)  wsdu drCsen

C) Gubhe aumsd ) Sarr,

The Karanpura coal field is located at

A) Orissa B)  Madhya Pradesh
: =
C}  West Bengal Y~ Bihar.
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